Research  Methods : Exam#2 Answer Sheet
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Short Response (10 pts each)


1


The error resulting from an increased probability for finding a significant difference after repeated statistical analyses on the same data set.


2


Any decrease in internal validity means that more variability is introduced into the measurement and/or the measured data are incorrect.  These changes can only make it more difficult to accurately assess a difference between means.  While it is possible for some of these differences to be biased in exaggerating a treatment effect, most of the time the influence of poor internal validity is to cause a type II error, reflecting poor power.


3


It only allows you to remove the influence of one confounding variable that was not well-controlled.  In reality, there are numerous variables that might interfere with the treatment, and if one is overlooked, many more may also be overlooked.
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Matching (2 pts each)
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Short Answer =        / 40





Total = _______  / 100








Name: _______________________________ 
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Can endurance exercise performance (5 km time trial) be better predicted (higher correlation and smaller standard error of estimate) from measurement of the maximal steady state intensity vs. traditional measurements of VO2max and the lactate threshold?





In this study, subjects are measured for their VO2max, lactate threshold and the maximal steady state intensity.  On another day, subjects perform a 5 km time trial run.  The time of the run is the DV, and the other measurements are used as IVs to predict the DV.  It is hypothesized that best prediction will result from the maximal steady state intensity. 








5


What is the best method for recovery from intense exercise induced metabolic acidosis for each of sedentary, endurance trained, and sprint trained individuals – passive rest, walking, jogging.





There are two IVs (GROUP 3 levels x RECOVERY 3 levels).  The main DV is the recovery time constant for muscle pH as measured by 31P MRS.








